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1. Please state the three assumptions in using ANOVA, Please also describe how to o when the
assumptions are violated, (10 %)

2. In a two-factor ANOVA, how do you mterpr&i the tollowing snuatmn (IO %)
a. Significant interaction effects but nonsignificant main effects
b. Both main and interaction effects are significant

3. At freshman student orientation last fall, individual faculty members presented small groups
with information concerning the different academic majors at the college. At the end of the
presentation, each student was asked to identify a preference for academic ma_]or Although the
faculty members were trained to be objective, there is some concern that the faculty may have
presented biased information to make their own academic arcas appear mote interesting, To-
determine whether there is a relation between student choices and faculty affiliation, the
following distribution was constructed. Rased on these data, what conclusion can vou make?
“Test at the .05 leve] ofsngmﬁcance {10%)

STUDENT CHOICE
Science Social Science | Ans
FACULTY Science [ 23 12 3
AFFILIATION  Social Seicnce 20 - 30 10
ARTS | 15 12 21 ]
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The regression equation is

Y=-345+ {a) X+emor

- Predictor Coef Stdav t-ratio P-value
Constant =~ -34.5 12.62 (b)) 0072
X (¢} . 1127 A 0.006
8= (&) CR'= (£} AdjR= su 9%
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6. 2. Which of the following pairs of events are matually exclusive? Justify your response.
{1} {The Dow Jones Industrial Average increases on Monday}, {A large New York bank
decreases its prime interest rate on Monday). (2%)
{2) You reinvest alt your dividend income for 1997 in a limited partnership}, { You reinvest
all your dividénd income for 1997 in a money market fund}. - (2%) '
b. Use 5’:01.11_' intuitive ﬁnde;rstagding of independénce to form an opinion about whether each of
the foilowing scenarios represents an independent event. Justify vour response.
- (3) The results of cansecuﬁ\;e tosses of a coin. (2%
(4) The amount of* gam or loss essociated with investrnents in different stocks if these stocks
are bough: on the same day and sold on the same day one month later. (2%)
(5) The prices bid by two different development firms in. response 10 2 building construction

proposal. (2%

7.Will the sampling distribution of ¥ always be approximately normally distributed? Exb]ah.(lﬂ%)

& A random sample of 70 observations from & nommally distributed population possesses a mean
equai to 26.2 and a standard deviation equal to 4.1.
a. Find a 95% confidence interval for p. (3%)
b, What do you mean when you say that a confidence coefficient is 0957 . (4%)
¢. What happens to the width of a confidence interval as the value of the conﬁdence coefficient

is increased while the sample size is held f xed" (3%}

. 9.Two independent random samples were se]ected from normally distributed popu]anons with
means and variances (p.,,cs, ) and (u,,qf), respecuvely The sample sizes, means, and variances

are shown in the table below.

Sample t : Sample 2
=2{l 1 m=15

X, =123 _ x =116

s, =313 $,- = 120.1

a. TestHy o) =0 against H,: 0" # 0, Use e = 0.05.  (6%) . o
b. Would you be willing 10 use a t-test to test the null hypothesis Hy: (1,~1,) = 0 against the

alternative hypothesis H,: (r-p) # 07 Why?  (4%)
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